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Solubility & Concentration

I. Expressing Concentration
1. Define the term concentration.
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F jl 2. List four quantitative descriptions of solution concentrations.
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3. Write the equation to deter/'mine Percent By Mass of a solution conc/entratlon.
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4. In order to maintain a sodium chloride (NaCl) concentration similar to ocean water, an
aquarium must contain 3.6 g NaCl per 100.0 g of water. What is the percent by mass of
NaCl in the solution?
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5. Write the equation to determine Percent By Volume of a solution concentration.
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6. What is the percent by volume of ethanol (C2HsOH) in a solution that contains 35 mL of

‘ @Tu dlie ,sﬂa\ ethanol dissolved in 155 mL of water?
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~ Al 7. Write the equation to determine Molarity of a solution concentration.
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8. A 100.5 mL intravenous (IV) solution contains 5.10 g of glucose (CéH1205). What is the

_3\ e molarity of this solution? The molar mass of glucose is 180.16 g/mol. -
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9. How much copper (II) sulfate CuSO4 * 5SH20 would be needed to make lﬂﬂ mLo
solution?
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10. In order to dilute (add solvent) a concentrated stock solution, what formula is used to
determine the appropriate amount of solvent required?
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11. If you want to know the concentration and volume of the solution you want to prepare, you
can calculate the volume of stock solution you will need. What volume, in millimeters, o
2.00 M calcium chloride (CaCl) stock solution would you use to make 0.50 L of 0.300 M

calcium chloride solution?
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15. In the lab, a student adds 4.5 g of sodium chloride (NaCl) to 100.0 g of water. Calculate
the molality of the solution.
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